Kawasaki EN250 (2008~2012) Model
© 2015 WRRP All rights reserved.

OEREIR X B B A s R A

O FEXARRE TERE -

® NARBEBTENRMEIHIINREBER, - URERGERKIR  FEZE -

O ZEAERF - BHMSREMTERIAE - BRRRERENBIR - NBMULBR - KATAFLURE -

® FEREAKWRRPEERR AR - MEEHEMEENRR - FISEMAN A TREATHEERE - MERER - —HHEHEEETRE -
O NELZKNBRRERPEATABRE - BEREEALT  LSEMBAREE -

@ HHTHEE - MAERER -

® MFEHMER - FEAATAU www.wrrp.com.tw 4 N
ZXD Zt3%
IXD-01 1
IXD-02 1
IXD-04 1
R EERE 1

Mé X 50 —fANAEEHA | 2
M8 X 70 —f N4 | 1
M8 X 35 —MRAI/NFEE#4 | 2
M8 X 25 —MRAI/NFEIEHA | 1

@QE©®|OE

5 R BR AR iz £
- B RS 2 B N E )
- BRERESRNDES

F—4: M8x70 B (BY(3) @ (B) M8x35 [2x]
BlriaE - k42 B @ w5 s
X

IXD-02 (2)

© 63 WRERE

BIRRARRIR12

[ S T
B{A) M6x50 B [2x]

(3) IXD-04

e

A: 5-9Nm / 44-80Lbs.In / 4.0-6.4Lbs.Ft
B: 14-17Nm / 124-150Lbs.In / 10.3-12.5Lbs.Ft
gnz 6Nm / 53Lbs.In / 4.4Lbs.Ft

B
Nm=4-18/ Lbs.In=FE/ZEM Lbs.Ft=&5/32IR

WWW.WRRP.COM.TW




(78
DD Kawasaki NINJA 2508 wose

© 2014 WRRP All rights reserved.

% Attention STEERING DAMPER MOUNTING KIT

e Please do not use pneumatic tools on this product.

e Please do not modify or deform any parts in order to prevent structural damage and keep the safety.

e Please refer the installation manual before installation, all failures from non-standard installation does not due to WRRP.

e If any inconsistencies or uncertainties appear on the manual during installation, please contact our customer service as soon as possible.
e Thanks for your purchase, have a nice user experience.

e Further products on our website www.wrrp.com.tw

' ZXD PART LIST

@ | xD-01 1
@ |1xD-02 1
R} |IXD-04 1
@ | Clamp 1
(B | Mé X 50 Socket head 2
(® | M8X 70 Socket head 1
(@) | M8 X 35 Socket Head

o G 6 herese damping | M8 X 25 Socket head 2

- turn CCW to decrease damping.

Step 1: M8x70 B (B)(6) (7 (B) M8x35 [2x]
remove the tank,
side panels and seat (8) (B) M8x25 B

( Please Applide Thread Locker
¢

(HmAnsE

A: 59N / 44-80Lbs.In / 4.0-6.4Lbs.Ft
B~ 14.17Nm / 124-150Lbs.In / 10.3-12.5Lbs.Ft
C: 6Nm / 53Lbs.In / 4.4Lbs. Ft (3) 7xD-04

Bl
Nm=41E/3K  Lbs.In=FE/ZE0  Lbs.Ft=#5/350R

WWW.WRRP.COM.TW




